Communication Arts
Power Standard 8:6
Pre-Formative Scoring Guide
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6.  Constructed Response Scoring Guide

2 points 	Response includes a logical explanation of the sentence AND the correct literary technique.

1 point	Response includes EITHER a logical explanation of the sentence OR the correct literary technique.

0 points	Response is illogical, the type of literary technique is incorrect, OR is left blank.

Example of a 2 Point Response:
· The sentence is talking about a character.  It is saying that he isn’t a nice person and the narrator stays away from the character and his friends.  It is written in slang.

Examples of a 1 Point Response:
· The sentence is written in slang.
· This sentence is the narrator describing a character that is not nice and/or makes bad decisions.  The narrator tells us that he/she stays away from the other character and his friends.

Examples of a 0 Point Response:
· This sentence is written using jargon.
· This sentence is about a guy that has a lot of friends.



1. Constructed Response Scoring Guide:
3 Points	Response includes correct Standard English for all three items that need to be corrected.

2 Points	Response includes correct Standard English for two of the three items that need to be corrected.

1 Point	Response includes correct Standard English for one of the three items that need to be corrected.

0 Points	Sentence is revised incorrectly OR is left blank.

Example of a 3 Point Response:
· Because he’s a big boy, he doesn’t need anything and must do all the work.	

Examples of a 2 Point Response:
· Because he’s a big boy, he don’t need anything and must do all the work.
· Because he’s a big boy, he doesn’t need anyt’ing and must do all the work.
· Because he’s a big boy, he doesn’t need anything an’ must do all the work.

Examples of a 1 Point Response:
· Because he’s a big boy, he don’t need anything an’ must do all the work.
· Because he’s a big boy, he don’t need anyt’ing and must do all the work.
· Because he’s a big boy, he doesn’t need anyt’ing an’ must do all the work.

Example of a 0 Point Response.
· Because he’s a big boy, he don’t need anyt’ing an’ must do all the work.
· Sounds good to me!
       

    



